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QUESTION 1

What two classes of device does the IBM Watson loT Platform support? 

A. Autonomous devices 

B. Remote devices 

C. Local devices 

D. Unmanaged devices 

E. Managed devices 

Correct Answer: AE 

 

QUESTION 2

IBM Watson IoT supports which protocols for communication with IoT devices? 

A. DNP3 

B. MQTT 

C. ModBus 

D. TPS 

Correct Answer: B 

 

QUESTION 3

What are two things to consider when choosing where to deploy Microservices? 

A. Microservices core functions content catalog must reside in all data centers where Microservices run 

B. The region where any personal data resides 

C. Microservice workloads should be co-located where their data resides to reduce latency between the microservice
and data persistence store 

D. Microservices on the same host must be part of one deployment 

E. Microservice workloads, when possible, should be co-located where backups reside to reduce latency and ensure
resiliency 

Correct Answer: AC 

 

QUESTION 4
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IBM Analytics Engine is based on what open source package? 

A. Hortonworks Data Science 

B. Hortonworks Data Platform 

C. Hortonworks Predictive Analytics 

D. Hortonworks for Global Data Management 

Correct Answer: B 

 

QUESTION 5

What is Event Streams for IBM Cloud based on? 

A. Fabrics 

B. Apache Kafka 

C. Netcool Operations Insight 

D. RabbitMQ 

Correct Answer: B 
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